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Eart I: Multiple - choice Items.

irections: Choose the best choice and mark it on your answer sheet.

1. Children conceptualize different phenomena without too much effort. Conceptualize should mean
a. acquire something for future benefit. b. refresh one's mind with too much effort.

c. forget something after it is aquired. d. form an idea of something in one's mind.

2. What is tourism?

a. being a translator for tourists.

b. business of providing accommodation and services for tourists.
c. visiting different countries.

d. something acquired for financial return.

3. IUOTO stands for ..............c.ocoenen. .

a. The International Union of Training Officers.

b. The International Universities of Tokyo and Ozaka.

c. The International Union of Official Travel organization.

d. The Internal Unity of Official Travel.

4. "Tourism may be defined in terms of particular activities selected by ............ and undertaken

Joutside home

a. choice / environment b. individual / arrival

c. parameter / meeting d. person / exercise

S. Tourismisnot just'.................... S

a. usual residence b. rejected activity
c. religious purpose d. holiday making

6. Visitors travel to a country other than that they come from for a period not ................ twelve.
a. removing b. exceeding C. moving d. formulating
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7. What does national tourism comprise?
a. Inbound tourism and domestic tourism. b. Domestic tourism and outbound tourism.
c. Inbound and outbound tourism. d. Domestic tourism and combined tourism.

8. Individuals from various cultures travel to the same place. Various should mean ............... .

a. same b. interesting c. diverse d. domestic
[O. Itis not always easy to ................ traditional institutes.
a. manage b. complicate c. occur d. speculate

10. How do you rearrange these words to make a sentence?
"marriage / popular / more / never / than / is / been / has / today / it"
a. Today marriage has never been more popular than it is.

b. Than it is today marriage has never been popular more.

c. It is today than marriage never has been more popular.

d. Marriage has never been more popular than it is today.

11. The capital roads of Bangkok are very crowded and it ......... hours to travel from one place to
another.

a. suffers b. monetary c. takes d. exchanges
12. There are numerous ................. minorities is India.

a. natural b. monetary c. ethnic d. usual

13. What do you call knowledge or skill aquired from seeing and doing something?

a. experience b. work c. right d. incentive
14. How can you ............. to take a taxi these days?
a. develop b. settle c. relate d. afford

15. These restraints make people live in cheep areas.
a. limitations b. settlement c. treatment d. motivation
16. Tourism is usually classified into six distinct ......... .

a. examples b. categories c. landscapes d. barriers
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17. What may prevent people from traveling?
a. leasure time. b. easy characteristics
c. low costs d. Physical limitations
18. There are some ............... and cultural motivations for travel.
a. educational b. marked c. changing d. similar
19. These people ............. what is taking place here.
a. deal b. think c. ignor d. agree

20. This company has 250 employees. Of these two percent have incentive to work hard. These refers to
a. company b. 250 employees c. has 250 d. have incentive

21. What he says about this firm is highly speculative. Speculative should mean ............. .

a. certain b. ideal

c. clear to be understood d. concerned with guess
22. Natural and ................. attraction differ from each other.

a. man-made b. new c. required d. productive
23. One of factors that ............. the tourism product is psychological.

a. fixes b. comprise c. affects d. precedes
24. The Caribbean Sea is less .............. than its European counterpart.

a. fragmented b. stated c. polluted d. depended

25. A person who acts as a means of communication between two or more people is called .......... .

a. inclination b. intermediary C. prosperity d. segment
26. Socio-demographic factors are favorable to ................ tourism.

a. international b. national c. internal d. domestic
27. This company needs some ............. employees.

a. qualify b. qualification c. qualified d. qualifying
28. Youcan ................ your paintings in the next large room.

a. forecast b. exhibit c. invest d.direct
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29. Their crucial management aspects involve marketing and sales, human resources management and

foffice automation. Crucial should mean ........... .

a. commercial b. bound c. local d. critical
30. Most tourists who go to Nepal ........... by the Himalayan Peaks.
a. are attracted b. attract c. attracted d. was attracted

art II: Translation
irections: Translate the following 5 texts into fluent Persian.
1. Accessibility from tourist markets is a key factor. Tourists generally love comfort and are willing to

ay for it. An intrepid explorer may be willing to put himself to a lot of inconveniences to see a beautiful

egion.(/ point)

2. In addition to scope, ownership and industry sector level, there is the managerial function level. The
ost important such functions in the field of tourism management are marketing, financial management

and legal aspects. (1 point)

3. When the long- run objectives of businesses are to prosper- the symbiotic relationship referred to

arlier - there should be little difference between the interests expressed as goals of the public sector.

esides, the long-run objectives of the private sector at the destination should be carefully chosen.

(1 point)

. A major part of Egypt is a desert and a vast majority of the population lives in the narrow ribbon of

ultivated land a ong the river Nile. Most tourists arrive by air into Cairo International airport. (1 point)

5. Tourism product is not homogeneous or of standard quality. one Sony TV set could be as good as the

other one. But, tour packages to a destination may vary in quality, depending on the circumstances.

(1 point)
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